
Ebene Figuren  (𝐴: Flächeninhalt    𝑢: Umfang)     (Katrin Dräxl) 

 

 

Punkt  
 

[𝐴𝐵] Strecke   

 
Länge der Strecke 𝐴𝐵̅̅ ̅̅ = 5𝑐𝑚 

Halbgerade[𝐴𝐵 
 
 

Gerade 𝐴𝐵 
 

Dreieck 
 

𝐴 =
1

2
∙ 𝑔 ∙ ℎ 

𝑢 = 𝑎 + 𝑏 + 𝑐 

Gleichschenkliges Dreieck 
→ zwei Seiten sind gleich lang 
    (Schenkel) 
Gleichseitiges Dreieck 
→ drei Seiten sind gleich lang 
→ Winkelmaße betragen 60° 

Quadrat 
 

𝐴 = 𝑎2 
𝑢 = 4 ∙ 𝑎 

Rechteck 
 

𝐴 = 𝑎 ∙ 𝑏 
𝑢 = 2 ∙ (𝑎 + 𝑏) 

Parallelogramm 
 

𝐴 = 𝑔 ∙ ℎ 
𝑢 = 2 ∙ (𝑎 + 𝑏)   

Trapez 
 

𝐴 =
1

2
∙ (𝑎 + 𝑐) ∙ ℎ 

𝑢 = 𝑎 + 𝑏 + 𝑐 + 𝑑 
 

Drachenviereck 
 

𝐴 =
1

2
∙ 𝑒 ∙ 𝑓  

𝑢 = 2 ∙ (𝑎 + 𝑏) 

Winkelsumme im 

Dreieck 𝛼 + 𝛽 + 𝛾 = 180° 
Viereck 𝛼 + 𝛽 + 𝛾 + 𝛿 = 360° 
n-Eck (𝑛 − 2) ∙ 180° 
 

Kreis 

𝑑 = 2 ∙ 𝑟  
𝐴 = 𝑟2 ∙ 𝜋 
𝑢 = 2 ∙ 𝑟 ∙ 𝜋  

Kreisring 

𝐴 = (𝑟𝑎
2 − 𝑟𝑖

2) ∙ 𝜋 

 

 


